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Write a balanced equation and indicate the reaction type.
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!. Alumlnun nitrate combines with sodium hydroxide to produce aluminum hydr
and sodium nltirate, :
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2. Potassium chiorate breaks down to form potassium chloride and oxygen.
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Amnonlia reacts wlith oxygen to produce mononitrogen monoxlde ana water,
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4. Calclum bromide and lodine are produced when bromine reacts wlth calcium
iodide.
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5. Magnesium reacts wlth oxyoen to procuce magreslum oxide.

S e THERE S A e e —F D a2
S = !

g, Use z balanced equatlon to show the products formed when aluminum reacte .
lead(Il) nitrate.
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7. IrontIll) oxide and water are produced when iron¢lIi) hydroxide decompos=%<.
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8. Dlphogsphorus pentoxide reacts with water teo produce phosphoric acid.
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2. Silver oxlide reacts to produce silver and oxyaen,
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i0. Cadmium phosphate reacts with ammonlum suiflde vielding cadmlum sulfide
ammonium phosphate,
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